A cheetah is
Answer:

C1

than a snail.

Alionis
Answer:

than a mouse.

An elephant is

than a rabbit.

Answer:

A giraffe is than a cat.
Answer:

A turtle is than a bird.
Answer:

A horse is than a dog.
Answer:

A gorilla is than a monkey.
Answer:

A whale is than a goldfish.
Answer:

A bear is than a squirrel.
Answer:

A kangaroo is
Answer:

than a hamster.




Answers

A cheetah is than a snail.
Answer: faster

Alionis than a mouse.

Answer: bigger

An elephant is than a rabbit.

Answer: larger

A giraffe is than a cat.
Answer: taller

A turtle is than a bird.
Answer: slower

A horse is than a dog.

Answer: stronger

A gorilla is than a monkey.
Answer: heavier

A whale is than a goldfish.

Answer: larger

A bear is than a squirrel.

Answer: stronger

A kangaroo is than a hamster.

Answer: jump higher



